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40-49   43  45  42  42  40  44  40 

 

  (leaf) 

 

2 2  5  7  8   

3       0  4  4  5  5  7  9  9  9 

4       0  2  2  3  4  4  5 
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1.  50      

 ( )  

      217     352     592     156     421     261     508     323     236     430 

      301     291     439     524     287     460     341     137     369     262 

     402     316       89     372     201     423     417     468     248     672  

1)   

   100 

  100  -  199  

       200  -  299 

  300  -  399 

  400  -  499 

  500  -  599  

  600  -  699 

2)  1)  

3)   100    600-699  

4)   50   1)  

 

2.   

 

 

 

 

 

 

 

 

1)  10  -  19,  20  -  29  , 30  -  39, 40  -  49, 50  -  59,  60  -  69   

2)  

 (  )  (  ) 

10  -  19 

20  -  29 

30  -  39 

40  -  49 

50  -  59 

60  -  69 

2 

17 

27 

32 

32 

35 
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3.   60   

                             

  

30 -   39 

40 -   49 

50 -   59 

60 -   69 

70 -   79 

80   -   89 

90   -   99 

1 

3 

9 

29 

50 

58 

60 

 

 60   

1)  80  89  60  89  

2)  50  

3)  

4)  70  

 

4.    66  

 345       494   604   730   468   607   395   494 

 530   563   515   505   468   461   560   490 

 556   444   523   549   624   439   384   402 

 354   629   545   472   582   596   585   523 

 593   439   505   475   574    417   629   420 

 574   486   527   611   578   490   490   585 

 516   505   431   541   523   523   468   549 

479    604   464   691   575   585   603   417 

446   406 

 

1)  10   

    341  -  380 
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2)  1)  

(1)    501   

(2)    381     580   

  (3)  660  

 

5.  ( )   

 6 13 15 19 22 12 16 24  

 10 14 14 20 23 9 21 8   

 15 11 20 19 6 20 18 15 

1)   

  30t2510,...t55t0  

                    t   

2)    

 

6.   50   

     1    6    2    5    5    3    4    1    2    7    3    4    5    3    1    3    2    1    4    4    3    9    4    3    3 

     5    3    5    7    3    3    5    2    6    4    3    3    3    3    3    4    3    5    7    3    3    1    2    3     2                              

 

1)   50  

2)   1)  

      (1)  3      (4)  2  3  

     (2)   3     (5)  3  3  

     (3)   5     (6)   3  

          3)   

  (1)   4  

  (2)   4  

  (3)  4   

  (4)   4  

7.    45     

    72   83   82   92   70   72   91   71   87   53   33   95   51   59   80  

    77   62   92   78   89   67   82   59   87   80   60   90   73   79   56 

    83   74   51   75   86   66   85   96   88   64   93   96   37   67   81 
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1)           

       0 – 39, 40 – 49, 50 – 59, 60 – 69, 70 – 79, 80 – 89,  90 – 99 

2)   

3)   50 – 59  

4)     59   

5)    59   

 

8.     . . 2547   

  (  )  (  ) 

0  -  9 

10  -  19 

20  -  29 

30  -  39 

40  -  49 

50  -  59 

60  -  69 

70  -  79 

80  -  89 

90  -  99 

2,348,081 

2,606,028 

2,579,629 

2,467,839 

1,805,783 

1,448,698 

1,257,157 

   780,916 

    269,951 

     38,074 

 15,602,156 

 1)   

 (1)   30  -  39   

 (2)   90     

 (3)     20   

 (4)     49   

 

 2)   

  (1)   20  -  29   

  (2)   80  -  89     

  (3)     49   

  (4)   10    29    

 (5)    



⌦
⌦ 17

9.    60  

 

 

 

 

 

 

 

 

 

 

1)   80   89    60   89   

2)    50   

3)   

4)    70     

 

10.     

 

 

 

 

 

 

 

 

 

 

 

 

 

  

30  -  39 

40  -  49 

50  -  59 

60  -  69 

70  -  79 

80  -  89 

90  -  99 

1 

3 

9 

29 

50 

50 

60 

  ( ) 

30  -  39 

40  -  49 

50  -  59 

60  -  69 

70  -  79 

80  -  89 

90  -  99 

2 

0 

6 

6 

10 

13 

8 

 45 
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           4      90  -  100 

           3       80  -  89 

         2      70  -  79 

           1      50  -  69 

          50   

  

1)   

2)   

11.  -    50    

  44 24 43 24 31  

  47 35 44 42 24 

  36 38 34 38 19   

  23 49 33 36 48  

        -   

12.      28  

 

  12 , 11 , 22 , 32 , 35 , 45 , 46 , 14 , 16 , 33 , 30 , 41 , 7 , 9 , 25 , 8 , 51 , 43  

  18 , 17 , 19 , 32 , 18 , 22 , 24 , 56 , 61   13 

 1)  -     

 2)   

 3)   

13.  -     30      

 

  154 151 148 131 160  

154 150 161 144 183 

160 206 176 166 129 

198 189 180 158 135 

123 185 153 132 170 

151 137 159 175 129 
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    14.  7  %  

   

         ( )    

            1000     2000     1300     1360     1910     1560      2090     

     1260     1350      980      1140     1170     1680      1330 

  1400     1240     1720     1270     1430     1570      1240 

 1520     1040     1260     1550      920      1940      1150 

 920      1360     1480     1120      990       960        1460 

1)   -      

2)     

3)    

 

15.   –      ( )  100     

 ( ) 

4 1 5 8 

5 2 3 3 4 5 

6 2 3 3 4 5 

7 1 1 1 1 4 

8 1 3 8 9  

9 0 0 0 

 

1)   

2)     

 

16.          0 6  7 

  1 9 3 4 6 6 

  2 0 0 1 2 2 2 4 7 

  3 3 5 8 1 3 2 1 

  4 1 1 2    

–     

    25     
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17.    30     

                                                  ( ) 

    20    25    25     5    25    10    20    15    15    20 

    20    25    20    30    20    25      5     25    45    20 

    25    45    40    10    35    25    30    20    30    30 

  

1)   –   

 2)   

 

18.     25       

                                                          ( ) 

95 106 112 134 122        104 117 123 105 133 

113 128 135 128 125        122 139  98 139 124 

131  90 132 104 111 

 

1)   –      

2)    120     

 

 

 

 

 

 

 

 

 

 

 

 



⌦
⌦ 21



⌫ ⌫   ⌦
⌫    22

4.5       

   

 3  29              

 3  35   36  

4.6      

         

 3  30   31 

 3  37  38  

4.7        

 

 

5.   

      3    .   

 

6.   

    

1.  1.  

2.  

1.  

2.  

1.  95% 

2.  80% 

2.  1.  

 

2.  

1.   

    . 

2.  

1.  90% 

3.     90% 

 

7.   

..................................................................................................................................................................................

.................................................................................................................................................................................. 

..................................................................................................................................................................................  

 

8.   

..................................................................................................................................................................................

.................................................................................................................................................................................. 
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     ....................................................................... 
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    25      =      15m + 5c   . . . . . .   (1) 

    92      =      55m + 15c   . . . . . .   (2) 
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    2342 xcxbxayx  

    

    20 = 30a + 10b + 4c   ………..  (1) 

    58 = 100a + 30b + 10c   ………..  (2) 

    200 = 354a + 100b + 30c  ………..  (3) 

 (1) , (2)   (3)   

    a  =  2.5 ,    b  =   -10.9 ,     c  =  13.5 
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2
 – 10.9x + 13.5 

  x = 5        y = 2.5(5
2
) – 10.9(5) + 13.5 
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1.  

 ( )   y  =  mx + c 

     yncxm     ;      x   , y  

  xyxcxm 2                      m , c   

2.  

   2.1   

 ( )   y  =  ax
2
 + bx + c  

            yncxbxa 2          x   

      xyxcxbxa 23               y   

     yxxcxbxa 2234              a, b, c   

 2.2    

          ( )   y  =  ax
2
      log y  =  a + x log b 

           yxbna loglog    x   

   yxxbxa loglog
2         y   

               a, b  

  

      

(1)       

  y  =  a + bx     

        xbanxbabxay  

          y  =  a0+a1x+a2x
2
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210
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      log y  =  log a + x log b     

 

 xbanbxay logloglogloglog  

 10



⌫ ⌫   ⌦
⌫    100

 (2)        x   

   y = a + bx     

22 xbxabxaxxy  

   y  =  a0+a1x+a2x
2
     

 3

2

2

10

3

2

2

10
xaxaxaxaxaxaxy  

      y  =  ab
x
    log y  =  log a + x log b  

   

 22
logloglogloglog xbxabxaxyx  

 (3)          

    x
2
          y  =  a0+a1x+a2x

2
 

      

 4

2

3

1

2

0

2 xaxaxayx  

 

  

    

 

 

 

 

 

 

 

 

 

 

 



⌦
⌦ 101

 10 

 

1.  2    

  xi     8 ,   9 ,   12 ,   15 ,   16 ,   19 ,   25 
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2)  ( ) 

3)     y  on  x 

4)  y   x = 18    x = 4 

     y  on  x    x     y  x 

                    x  on  y    y     x   y 
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ix     

 10 ./      

3.    x  y   

x -1 0 1 2 3 

y 1 0 1 3 10 

 

    y  =  kx
2
    k   

4.    n   3,500    18,000     

   (y)    (x)    

 Y  (0,-2)    12x , 7y   
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   (normal  equation)     bxaŷ  

     cbxaxy 2
ˆ        a , b , c      

 (1)   2xaxbncy  

 (2)   32 xaxbxcxy  

 (3)   4322 xaxbxcyx  

      xabŷ    a    b    

  ix

i bay  

  log yi   =   log (a.b
x
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              =   log a + xi log b 

    

 xbany loglogloglog      
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loglogloglog xbxaxy  
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y 20 30 20 40 60 

       y   (x)     y  2535  

 

        (1)   97    (2)     106 

        (3)    110    (4)     120 

2.     x    y    x   :    -1       0      1      2      3 

     y   :     1       0      1      3      10 

         y  =  kx
2
     k                      

      (1)     
5

3
      (2)    

4

3
   

   (3)      1    (4)    3 

3.  8    1,000   14,000  

 (x)   (y)    y  =  0.636x+0.545  

.  

.  7    x  y  

 

  

 (1)           (2)           

 (3)              (4)         

4.     y  =  6.5(x – 2529) + 60   x  . .  y  

   . . 2536   110%    . . 2535  

 . . 2536   . . 2535   

       (1)      2.80   (2)      6.50  

       (3)      3.10   (4)      9.90  
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5.   n    5,000    20,000  

   

 ( )  :  x x1     x2    . . .     xn 

 ( )  :  y y1     y2    . . .     yn 

      5,12 yx   (y)  (x)       

 Y  (0,-3)   15,000   

6.  (x)   (y)         

  y  =  200 + 0.85x   2  1,000   

 

7.     t      s      t  

  1.5     

8.     x    y    

x -3 -1 0 1 3 

y 0 A A + 3 A + 4 A + 6 

       A      

1.55   x = 4    y   

9.      y  =  mx + c   (y) 

 (x)    5 

      28   =   5c + 10m        ………..   (1) 

             67   =   10c + 30m      .……….   (2) 

 

 .     x  =  5      y  =  8.9 

 .   6.5x  

10.  (  10 )          

y  =  0.9x + 54.8   y    x   

 120     8   

 -1.8     
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11.  (  x )   

  GPA  (  y)  

   0.02   Y  2.7  

 

 .     10    

         0.2 

.  3                 

15  

12.     (y)    y  =  7 + 0.25x  

 5    32   48   40   56    44    

13.     ( . .)(x)    ( )

  (y)    . . 2524 – 2528   5.1025.005.0
2

1
xxy   

 ( . .) (x)   ( ) 

 y2   . . 2524 – 2528   4.960.004.0
2

2
xxy    (  x = 0    

. .2536   x  )   

. . 2529 – 2531   

(1)  

(2)  

(3)  

(4)  
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1.    

( )  1 2 3 4 5 6 7 8 9 10 

( ) 3.8 3.4 3.3 3.0 2.5 2.0 2.2 1.0 1.0 0.8 

             10                          
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2.     
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